DOCUMENT: PRODUCT SPECIFICATIONS

SYSTEM: LOKI

MOUNTING STYLE: GLASS MOUNT

DETAIL A
SCALE 3'=1"
(1:4)

N
oo|un

7+ MINIMUM —

1" MAXIMUM —

14" MAXIMUM

7" MINIMUM

GENERIC WALL SHOWN. TRU-LEVEL TRACK
DRAWINGS IN FOLLOWING PAGES WILL
COVER FRAMED AND GLASS WALL TYPES.

DETAIL B
SCALE 3"=1"
(1:4)

WALL

DOOR GUIDE*

2

BASEBOARD, TRIM,
CHANNEL, ETC

FLOOR

A

* = DOOR GUIDE MAY DIFFER

DOOR APPLICATION:

PANEL THICKNESS:

MAXIMUM WEIGHT:

SINGLE, BI-PARTING, BYPASSING

3/8"TO 1/2" (CONTACT US FOR PANELS OUTSIDE OF THIS RANGE)

UP TO 200LBS (CONTACT US FOR HEAVIER PANELS)

DRAWING SCALE:

UNITS:

DATE:

D)

—— 2" RECOMMENDED

WALL

/

FLOOR

-
1 %" RECOMMENDED MAXIMUM

DOOR PANEL
DOOR OPENING
DOOR GUIDE
BASEBOARD, TRIM, CHANN

N

7
Fr
oo\é,o

3/4"=1-0"(1:16)
INCHES

5/17/2018

53" MINIMUM

— CLEARANCE ABOVE
INSTALLED DOOR PANEL

KROWNLAB
2351 NW York St. =

Portland, OR 97210 .
+1 503 292 6998 KROWMNLAB

www.krownlab.com a—
support@krownlab.com

DETAIL C
SCALE 3"=1"
(1:4)

S TRU-LEVEL" TRACK
TRU-LEVEL" TROLLEY

| ————DOORSSTOP

EL, ETC

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.
KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.

r——-

alw

\DOOR OPENING

DOOR PANEL




DOCUMENT: PRODUCT SPECIFICATIONS DOOR APPLICATION: SINGLE, BI-PARTING, BYPASSING DRAWING SCALE: 47 = 10" (1:3) KROWNLAB

2351 NW York t. w

SYSTEM: LOKI PANEL THICKNESS: 3/8'TO 1/2" (CONTACT US FOR PANELS OUTSIDE OF THIS RANGE] nS: INCHES S o KROWNLAB
: : . krownlab.

MOUNTING STYLE: 5| ASS MOUNT MAXIMUM WEIGHT: UP TO 200LBS (CONTACT US FOR HEAVIER PANELS) DATE: 5/17/2018 SUppOr@krownlab com

WHAT'S INCLUDED:

2 x - #A332 - LOKI GLASS MOUNT TROLLEY KIT

1 x-#A219 - DOOR GUIDEKIT (DOOR GUIDE MAY DIFFER - MULTIPLE OPTIONS EXIST)

1 x - #Txxxx - TRU-LEVEL™ TRACK SYSTEM WITH ALL MOUNTING HARDWARE (SEE SEPARATE PAGE)

#A332 - LOKI GLASS MOUNT TROLLEY KIT (x 2 INCLUDED)

/ LOKI GLASS MOUNT TROLLEY

/#] 616 - SAFETY STOP - FLAT

#1617 - SAFETY STOP - CURVED

/#l 634 - SAFETY STOP SCREW

#1414 - GLASS PANEL SPACER

#1356 - GLASS BUSHING

\#1 764 - GLASS WASHER

#1112 - 3/4" GLASS PANEL SCREW
#1120 - 1" GLASS PANEL SCREW

C
(@)
o

#A020 - DOOR GUIDEKIT (x 1 INCLUDED¥)

#1450 - DOOR GUIDE KIT

*=THE DOOR GUIDE MAY DIFFER - MULTIPLE OPTIONS EXIST

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.
KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.



DOCUMENT: PRODUCT SPECIFICATIONS - DOOR CONFIGURATIONS DOOR APPLICATION: SINGLE & BI-PARTING DRAWING SCALE: 12" = 10" (1:24) KROWNLAB

2351 NW York St. e
SYSTEM: ™ PANEL THICKNESS: " " UNITS: Portland, OR 97210 -
TRU-LEVEL™ TRACK 3/8"TO 1/2" (CONTACT US FOR PANELS OUTSIDE OF THIS RANGE) INCHES +1 503 299 6998 KROWMNLAB
. . . www.krownlab.com a—
MOUNTING STYLE: 5 ASS WALL MAXIMUM WEIGHT: TROLLEY SYSTEM OR TRACK CONFIGURATION DEPENDENT DATE: 5/17/2018 support@krownlab.com
SINGLE SINGLE - PERPENDICULAR WALL
[
1 1. m—

i I S T

(R U Ul

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| [ I

I [ |

| : |

I

| ! I

BI-PARTING

1
=
I
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

L ] F

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.
KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.



DOCUMENT: PRODUCT SPECIFICATIONS

SYSTEM: TRU-LEVEL™ TRACK

MOUNTING STYLE: GLASS WALL

WHAT'S INCLUDED:

1 x - #Txxxx - TRU-LEVEL™ TRACK SYSTEM WITH ALL MOUNTING HARDWARE:
X x - #A257 - STANDARD GLASS TRACK MOUNTING KIT
2x-#A214 - DOOR STOP KIT

Xx-#A213 - TRACK CONNECTOR KIT (1 x PER TRACK JOINT INLCUDED)

#A214 - DOOR STOP KIT (x 2 INCLUDED¥)

#1365 - DOOR STOP NUT (NOT SHOWN)
#1339 - DOOR STOP
-#1364 - DOOR STOP SCREW

* = THE DOOR STOP MAY DIFFER - MULTIPLE OPTIONS EXIST
VISIT WWW KROWNLAB.COM FOR ALL OPTIONS

#A217 - TRACK SHIM KIT (NOT INCLUDED)
#1417 - TRACK SHIM (THICK)

>77#]4] 6 - TRACK SHIM (THIN, 2x)

TRACK SHIMS ARE DESIGNED TO BE INSTALLED AGAINST TRACK/

#A213 - TRACK CONNECTOR KIT
(1 x PER TRACK JOINT INLCUDED)

#1382 - CONNECTOR SCREW

#1383 - TRACK CONNECTOR NUT

#1297-B - TRACK CONNECTOR WASHER PLATE

DOOR APPLICATION:

PANEL THICKNESS:

MAXIMUM WEIGHT:

SINGLE & BI-PARTING
3/8"TO 1/2" (CONTACT US FOR PANELS OUTSIDE OF THIS RANGE)

TROLLEY SYSTEM DEPENDENT

DRAWING SCALE:

. KROWNLAB
¢'=10"(1:2) 2351 NW York St. e
. Portland, OR 97210 -
oS INCHES +1 503 292 6998 KROWNLAB
DATE: www.krownlab.com a—
5/17/2018 support@krownlab.com

#1338 - END CAP

TRACK CAP (SYSTEM DEPENDENT)

#1118 - END CAP SCREW ‘ Q

#Txxxx - TRU-LEVEL™ TRACK SYSTEM

#A257 - STANDARD GLASS TRACK MOUNT KIT (QUANTITY MATCHES THE TRACK DRILL PATTERN)

#1399 - TRACK GLASS NUT
#1428 - GLASS BUSHING

#1388 - 7/8" TRACK GLASS MACHINE SCREW
#1389 - 1" TRACK GLASS MACHINE SCREW
#1424 - 1-3/8" TRACK GLASS MACHINE SCREW
#1425 - 1-1/2" TRACK GLASS MACHINE SCREW
#1426 - 1-5/8" TRACK GLASS MACHINE SCREW
#1427 - 1-3/4" TRACK GLASS MACHINE SCREW

#1414 - 1/4" TRACK STANDOFF

#1415 - 3/4" OPTIONAL TRACK STANDOFF

#1297-A - TRACK WASHER PLATE

Q) #1317 - TRACK SPRING

TRACK BASE

TRACK COVER

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.

KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.



DOCUMENT:  pRODUCT SPECIFICATIONS - STANDARD GLASS TRACK MOUNTING POINT DOORAPPLCATION:  §INGLE & BI-PARTING DRAWING SCALE: g1 = 1.0 (1:2) R WA i st -
SYSTEM: TRU-LEVEL™ TRACK PANEL THICKNESS: 3/8"TO 1/2" (CONTACT US FOR PANELS OUTSIDE OF THIS RANGE] NS INCHES o s o KROWNLAB
DATE: www krownlab.com Vue -

MOUNTING STYLE: 5 ASS WALL MAXIMUM WEIGHT: TROLLEY SYSTEM DEPENDENT : 5/17/2018 support@krownlab.com

3u "
3'TO 3" GLASS

1 @ %‘fé/w HOLE
— %" REQUIRED TRACK STANDOFF SEE GLASS PANEL SPECIFICATIONS
PAGE FOR MORE DETAILS

%” OPTIONAL TRACK STANDOFF

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.
KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.



DOCUMENT:

PRODUCT SPECIFICATIONS - TRACK CONNECTOR DOOR APPLICATION: SINGLE & BI-PARTING DRAWING SCALE: v = 10" (1:2) KROWNLAB
2351 NW York St. L
SYSTEM: ™ PANEL THICKNESS: UNITS: Portland, OR 97210 -
TRU-LEVEL™ TRACK TROLLEY SYSTEM DEPENDENT INCHES 17503 297 4998 KROWNLAB
. . . www.krownlab.com [P
MOUNTING STLE:  A| L WALL TYPES MAXIMUM WEIGHT: TROLLEY SYSTEM DEPENDENT DATE: 5/17/2018 support@krownlab.com
TN ‘\
// //)
O :
\
7N 77N
|
{ () &)
N

REQUIRED MOUNTING
— POINT @ 3" FOR ALL —
TRACK JOINTS

REQUIRED MOUNTING
~— POINT @ 3"FOR ALL —

2ND REQUIRED MOUNTING POINT @ 6"

TRACK JOINTS
FOR TRACK JOINTS ON FRAMED WALLS

2ND REQUIRED MOUNTING POINT @ 6"
FOR TRACK JOINTS ON FRAMED WALLS

#A213 - TRACK CONNECTOR KIT
(INCLUDED IN MULTIPLE TRACK SYSTEMS)

#1383 - TRACK CONNECTOR NUT

#1297-B - TRACK CONNECTOR WASHER PLATE

#1382 - CONNECTOR SCREW

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.
KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.



DOCUMENT:

SYSTEM: TRU-LEVEL™ TRACK

MOUNTING STYLE: GLASS WALL

GLASS WALL TO PERPENDICULAR GLASS WALL

PRODUCT SPECIFICATIONS - PERPENDICULAR TRACK MOUNTING POINT

DOOR APPLICATION:

PANEL THICKNESS:

MAXIMUM WEIGHT:

SPAN (X) MAX. PANEL WEIGHT
UP TO 38" 300Ib
UP TO 44" 275lb
UP TO 50" 250Ib
UPTO 62" 225Ib
— 24" MAX —
—~
] 2
T
O

) DRAWING SCALE: W T (1 KROWNLAB
SINGLE & BI-PARTING 3/4"=1-0"(1:1¢) 2351 NW York St. u_*
3/8"TO 1/2" (CONTACT US FOR PANELS OUTSIDE OF THIS RANGE] UNTS: INCHES S o KROWNLABE
DATE: www krownlab.com Vae - e
TROLLEY SYSTEM OR TRACK CONFIGURATION DEPENDENT : 5/17/2018 support@krownlab.com
SCALE: 3" = 10" (1:4)
— #A234 - PERPENDICULAR TRACK MOUNT KIT FOR GLASS WALLS (NOT INCLUDED)
#1120 - SOCKET SCREWS
#1494 - SOCKET WASHER PLATE
[ ] % #1493 - GLASS BUSHING
— g e
L] e #1487 - TRACK SUPPORT SOCKET
5.t !
B3 5h% HOLE #1618 - END CAP SCREW
SEE GLASS PANEL SPECIFICATIONS
#1496 - SOCKET END CAP
Ll 3104 class PAGE FOR MORE DETAILS
PRI }5 0
F #1491 - SOCKET SCREWS >
275" 2B 12" HOLES #1365 - TRACK NUT o
J ( > \ @

SCALE: 3" = 1'-0" (1:4)

{
0
;\g

3'TO " DRYWALL

3" MIN
BLOCKING 5

—=

o“”

‘wﬁ

N

;
N
e

| P

L 2" sLOT

oL

23" sLOT 1" HOLES

LU

#A231 - PERPENDICULAR TRACK MOUNT KIT FOR FRAMED WALLS (NOT INCLUDED)

#1682 - 1/4" DRYWALL INSERT
#1683 - DRYWALL SHIM
'/— #1490 - HEIGHT ADJUSTMENT SCREW

#1487 - TRACK SUPPORT SOCKET

#1489 - SCREW PLATE
#1488 - #14 SCREW

#1618 - END CAP SCREW
#1496 - SOCKET END CAP
[0
o

#1491 - SOCKET SCREWS/Q
#1365 - TRACK NUT 7

KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.




DOCUMENT: PRODUCT SPECIFICATIONS - GLASS WALL SPECIFICATIONS DOOR APPLICATION: SINGLE & BI-PARTING DRAWING SCALE: 374" = 10" (1:1¢) KROWNLAB

2351 NW York St. =
SYSTEM: TRU-LEVEL" TRACK PANEL THICKNESS: 3/8'TO 1/2" (CONTACT US FOR PANELS OUTSIDE OF THIS RANGE] UNITS: INCHES S o KROWNLAB
. . . www krownlab.com Vae - e

MOUNTING STYLE: 5 ASS WALL MAXIMUM WEIGHT: TROLLEY SYSTEM OR TRACK CONFIGURATION DEPENDENT DATE: 5/17/2018 support@krownlab.com

THE KROWNLAB TRU-LEVEL" TRACK SYSTEM IS COMPATIBLE WITH MONOLITHIC

TEMPERED GLASS, 3/8" AND 1/2" IN THICKNESS. INQUIRE REGARDING THICKER GLASS. TRACK HOLES DRILLED TO MATCH PATTERN ON GLASS WALL.

—t 5"RECOMMENDED +—
GLASS PANELS MUST BE FLAT POLISHED AND HAVE A 1TMM CHAMFER ON ALL EDGES. . N
@ %" STANDARD TRACK ®+%" FOR TRACK JOINT
ALL HOLES MUST BE DRILLED OR CNC MACHINED WITH STRAIGHT WALLS AND MOUNTING POINT HOLE IN MULTIPLE TRACK SYSTEM 5,+1/32"
SEAMED EDGES. DO NOT WATER-JET - NO TAPERED HOLES. OUNTING POINTHO 7 \ \ Y CRSYSTEMS 7 D3 o

|

[

KROWNLAB TRU-LEVEL"™ TRACK IS NOT A STRUCTURAL MEMBER. SIDE-LITES AND
TRANSOMS MUST BE ENGINEERED TO SUPPORT KROWNLAB HARDWARE.

ALL TEMPERED GLASS IS SUBJECT TO EXPERIENCE SPONTANIOUS BREAKAGE. IT IS THE
BUYERS RESPONSIBILITY TO DETERMINE AND APPROVE GLASS SPECIFICATION(S)
SUITABLE TO MEET ALL FACTORS RELEVANT TO THEIR PARTICULAR USE OR
APPLICATION IN CONJUNCTION WITH ALL KROWN LAB, INC.'S PRODUCTS.

REFERENCE ASTM C1048, 7.9.5 \ h )
SCALE: 6"= 10" (1:2) ‘ ‘

DETAIL A

SCALE1:4
3" 5" +— 24" MAX —t— 24" MAX — 5" f— 24" MAX —F— 24" MAX — 34— —F3'— 24" MAX —— 24" MAX — 5" £— 24" MAX —— 24" MAX —t3"4—
—STRUCTURAL
| GLASS 5
5 TRANSOM — 98
T
%t f o ————0 —of o — - —0  —-— 0 i I e ® . ® ] ® oo ® - - - ——0
| ——————— ! = o e E— B S S —— i - ~
3g ! N i I ! 7.
8 : : ]lA” RECOMMENDED MAXIMUM ]z RECOMMENDED MAXIMUM : : — 3§ k
i i ! i STRUCTURAL GLASS TRANSOM
1" |
i — /i% 2" RECOMMENDED 2" RECOMMENDED ﬁl [ :
|
| | l |
| | ! |
| | ! |
| | | |
! ! I | DOOR PANEL i
| | ! HEIGHT :
| |
I | DOOR PANEL ! ! i
: HEIGHT : | TRACK G HEIGHT= |
| | | DOOR PANEL HEIGHT + 2 ¢" |
| | ! |
: TRACK G HEIGHT = ! | |
! DOOR PANEL HEIGHT + 22" | | | !
|
| | ! |
| | ! |
| | ! |
| | ! |
| | ! |
| | ! |
| | | |
| | l | | \
|
| | L FIXED GLASS PANEL [ l FIXED GLASS PANEL
! ! FIXED GLASS PANEL ! !
| _/'/' |
|
i v\ExDOOR OPENING DOOR OPENING ! i
| | |
|
i NGLASS DOOR PANEL GLASS DOOR PANEL—/J: i
| | ! |
|
| | /—FLOOR FLOOR ! i
| ' : |
| | ! |
|
| | ! |
| L I R AN | S I U I SO
L GAP DISTANCE TO FLOOR VARIES BETWEEN INSTALLATIONS L 2" DOOR PANEL CLEARANCE L GAP DISTANCE TO FLOOR VARIES BETWEEN INSTALLATIONS L 3" DOOR PANEL CLEARANCE

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.
KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.



DOCUMENT: PRODUCT SPECIFICATIONS - GLASS DOOR PANEL SPECIFICATIONS

SYSTEM: TRU-LEVEL™ TRACK

MOUNTING STYLE: GLASS WALL

GLASS PANELS MUST BE FLAT POLISHED AND HAVE A TMM CHAMFER ON ALL EDGES.

ALL HOLES MUST BE DRILLED OR CNC MACHINED WITH STRAIGHT WALLS AND
SEAMED EDGES. DO NOT WATER-JET - NO TAPERED HOLES.

ALL TEMPERED GLASS IS SUBJECT TO EXPERIENCE SPONTANIOUS BREAKAGE. IT IS THE
BUYERS RESPONSIBILITY TO DETERMINE AND APPROVE GLASS SPECIFICATION(S)
SUITABLE TO MEET ALL FACTORS RELEVANT TO THEIR PARTICULAR USE OR
APPLICATION IN CONJUNCTION WITH ALL KROWN LAB, INC.'S PRODUCTS.

REFERENCE ASTM C1048, 7.9.5

DOOR APPLICATION: SINGLE & BI-PARTING

PANEL THICKNESS: 3/8'TO 1/2" (CONTACT US FOR PANELS OUTSIDE OF THIS RANGE)

MAXIMUM WEIGHT: TROLLEY SYSTEM OR TRACK CONFIGURATION DEPENDENT

DRAWING SCALE: 1"=1-0" “ :]2)
UNITS: INCHES
DATE: 5/17/2018

KROWNLAB

2351 NW York St. —
Portland, OR 97210 -
+1 503 292 6998 KROWMNLAB
www.krownlab.com a—
support@krownlab.com

4" RECOMMENDED

TROLLEY ATTACHMENT POINTS:

LOKI TROLLEYS ONLY

DETAIL A
SCALE1:6

3,+1/32"
@3ty
(LOKI ONLY)

4" RECOMMENDED

TROLLEY ATTACHMENT POINTS: ODEN AND BALDUR TROLLEYS ONLY

6372

(ODEN &
BALDUR ONLY)

DETAIL B
SCALE1:6

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.
KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.



	_PRODUCT_SPECIFICATIONS-KL7
	TOP MOUNT
	Drawing View1
	Drawing View2
	Detail View A (1 : 4)
	Detail View C (1 : 4)
	Detail View B (1 : 4)

	FACE MOUNT
	Drawing View7
	Drawing View9
	Detail View A (1 : 4)
	Detail View C (1 : 4)
	Detail View B (1 : 4)

	GLASS MOUNT
	Drawing View12
	Drawing View14
	Detail View A (1 : 4)
	Detail View C (1 : 4)
	Detail View B (1 : 4)

	TOP MOUNT - EXPLODED
	Drawing View17
	Drawing View18
	Drawing View19

	FM MOUNT - EXPLODED
	Drawing View23
	Drawing View24
	Drawing View25

	GM MOUNT - EXPLODED
	Drawing View26
	Drawing View27
	Drawing View29


	_PRODUCT_SPECIFICATIONS-TRU-LEVEL-GLASS-WALL
	GLASS WALL DOOR CONFIGURATIONS
	SINGLE
	BI-PARTING
	SINGLE - PERPENDICULAR WALL

	PRODUCT SPECIFICATIONS
	Drawing View19
	Drawing View23
	Drawing View24
	Drawing View29

	STANDARD MOUNTING POINT
	Drawing View6
	Drawing View7
	Drawing View25
	Drawing View30

	TRACK CONNECTOR
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13

	PERPENDICULAR TRACK MOUNT
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View27
	Drawing View28
	Drawing View71
	Drawing View72
	Drawing View73
	Drawing View74

	GLASS WALL SPECIFICATIONS
	Drawing View76
	Drawing View77
	Detail View A (1 : 4)
	Drawing View80

	GLASS DOOR PANEL SPECIFICATION
	Drawing View81
	Drawing View83
	Detail View A (1 : 6)
	Detail View B (1 : 6)





